
 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

Roy is wearing a _____ t-shirt 

, _____ jeans and _____ 

trainers.He has got a _____ 

backpack. 

 

Sienna is sitting on her _____ 

desk and chair.She has got  

long_____ hair.She is 

wearing _____ trousers. 

 

Brian is a secondary school 

student.He has got a _____ 

backpack and _____ shoes. 

He is wearing a _____ t-shirt. 

 

Little George is giving his 

mother a _____ apple.She is 

wearing a purple and _____ 

dress. 

 

James looks angry in his 

______ and yellow bee 

costume.He has got _____ 

wings. 

 

Mr.Raynolds is a crazy man. 

He is wearing a ______ 

undershirt and _____ 

trousers. 

 

Samuel is wearing _____ and 

blue trainers and _____ 

jeans.He has got a _____ 

padlock on his closet. 

 

Benjamin is in the laboratory 

He is wearing orange and 

_____ shoes and an _____ t-

shirt.  

 

Harley is at a birthday party. 

He is wearing a _____ party 

hat and a _____ t-shirt.He 

also has got _____ hair. 

 

                           wwwhhhaaattt   cccooolllooouuurrr   aaarrreee   ttthhheeeyyy???   
FILL IN THE BLANKS WITH WHITE,RED,GREEN,PINK,YELLOW,PURPLE,BROWN,BLUE,GRAY,ORANGE AND BLACK 
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Roy is wearing a red t-shirt , 

blue jeans and blue 

trainers.He has got a green 

backpack. 

 

Sienna is sitting on her 

green desk and chair.She 

has got  long brown hair.She 

is wearing purple trousers. 

 

Brian is a secondary school 

student.He has got a yellow 

backpack and brown shoes. 

He is wearing a green t-shirt. 

 

Little George is giving his 

mother a red apple.She is 

wearing a purple and pink 

dress. 

 

James looks angry in his 

black and yellow bee 

costume.He has got gray 

wings. 

 

Mr.Raynolds is a crazy man. 

He is wearing a white 

undershirt and blue trousers. 

 

Samuel is wearing orange 

and blue trainers and purple 

jeans.He has got a gray 

padlock on his closet. 

 

Benjamin is in the laboratory 

He is wearing orange and 

brown shoes and an orange 

t-shirt.  

 

Harley is at a birthday party. 

He is wearing a red party hat 

and a yellow t-shirt.He also 

has got brown hair. 

 

                                    wwwhhhaaattt   cccooolllooouuurrr   aaarrreee   ttthhheeeyyy???   AAANNNSSSWWWEEERRR   KKKEEEYYY   
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